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- 3.8 examples

Calculus AB, section 3.8 — Implicit Differentiation
Example 1

3 4
Use Equation 3 to find the slope of the tangent line at the point P = (5-5)
on the unit circle. A/ - - |
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FIGURE 2 Tangent line to unit circle at (% %) has slope —3—1.
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Example 2

Find an equation of the tangent line at the point P = (1, 1) on the curve

(Figure 1).
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FIGURE 1 Graphof y* +xy =x3 —x +2 ﬁ — te—I[(-9 (
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Example 3 IO&%(, I L g /7
dy £’
Find g; where cos(ty) = ; (Figure 4)
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FIGURE 4 Graph of cos(ty) = —.
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Example 4

Find the slope of the tangent line to the curve e’ =x+Y at the point
P = (-1, 1.28) (the y-coordinate is approximate). | /Y

)

P=(-1,1.28)

-3 2 -l

FIGURE 5 Graph of ™Y = x + y.
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